| Efficiency vs Dxy |

1.2

o
©
I

o
o))
I

0.4p bl

0.2H-- ...... .

efficiency vs dxy
=
!
:
]
:
;
[}
]
i
[ ]

Ratio

=
UL WL

0.95,

0 -15-100-5 0 5 10 15 20

| Efficien

cy vs Dz |

TP dxy (cm)

—=— DQM_original_stepZ_tibar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—+— DQM_pixelCPETemplateCutChiSquareNew?2_step?2_ttbar-phasel-newgeom

0.5

Vs dz
o
©
N O
[ [

efficiency

o
()
[

0.25

0.35 i

.................

....................................................

10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


